Fitting Instructions - Read instructions carefully before fitting and follow them for correct use

VAN

GIUARD

IN8421 Trade Van Racking - Kick Plate

FX4011 X2 FX4040 X2

(M8 FLANGE NUT) (M8 WASHER)
oz >

.a um

d

e v v e Yy

FX4138 X2

(M8X50 COACH BOLT)

v v v e y

nif:’.’)aae“y

Q& Customercare@van-guard.co.uk ]
UK +44 (0) 1392 368 351

This FITTING INSTRUCTION is the property of VAN GUARD ACCESSORIES LTD. and must not be used for Van Guard Accessories Ltd
manufacturing purposes, copied nor communicated in any way to third parties without written Fair Oak Close, Exeter Airport Business Park,

permission from VAN GUARD ACCESSORIES LTD. Exeter, Devon, EX5 2UL
IN8421_A www.van-guard.co.uk

IN8421 - 01 OF 02




Place the kick plate into position. Secure the right side of the kick plate to the side panel using a M8x50
coach bolt, M8 washer, and a M8 flange nut. Tighten fixing to 5Nm. Take
care not to damage the unit by over tightening.

‘€§_!_‘4_‘4_‘4_‘4_‘4_@_‘4_\4_‘4_‘4_‘4_‘

Secure the left side of the kick plate to the side panel using a M8x50
coach bolt, M8 washer, and a M8 flange nut. Tighten fixing to 5SNm. Take
care not to damage the unit by over tightening.

IN8421 - 02 OF 02



